202"4 Eigenvector

Ne:5 s —

Irred. Representation : I'y >

1
Exy = 5 (== 38t+50 +50W + (cos (65) + v3sin (65) ) vVAs)
11
[P202) = 15, 5,5:T42)
= Choe1 (1022u) — |20u2) — |2u02) + |u220))
+  Caoz,2 (|02u2) + [0u22) — |202u) — |220u) + |22u0) + |2u20) — [u022) — [u202))
+  Ca02,3 (|2duu) — [2udu) + |d2uu) + |du2u) — [u2ud) + |udu2) — |uu2d) — |uud2))
Coop—1 = % (J2 + (t — 2(U + 18W))J + 27t% + 9U? — 11tU — 98tW + 164UW)
+ (1—18 — A3, +12W (41U + 200W) — 3(J + 4t — 3U — 34W) (cos (65) + V/3sin (65)) «/AG))
1
Cong—2 = §t( +6t+U)
1
+ <Et —2W) + (cos (65) + V3 sin (05)) \/A_G))
1
Cop2-3 = Et( J+12t - U)
+ ( U +2W + (cos (65) + V/3sin (05)) \/A_6)>

Nopp = \/0202 1+ 2 C'202 2+ Coo 3)



